Max Power | Stall Torque | Free Speed | Free Current | Stall Current
Make Model (W) (oz-in) (rpm) (A) (A)
BaneBots M3-RS395-12 48.05 16.65 15500 0.5 15
BaneBots M5-RS540-12 123.49 39.48 16800 1 42
M5-RS550-12
BaneBots | \15-Rs550-12-B 253.52 70.55 19300 1.4 85
BaneBots M7-RS775-12 83.05 61.1 7300 1.1 30
BaneBots M7-RS775-18 273.03 112.8 13000 1.8 86.7
CIM FR801-001 340.11 344 5310 2.7 133
Denso 262100-3030 (Right) 23.48 1501.1 84 1.8 18.6
Denso 262100-3040 (Left) 23.48 1501.1 84 1.8 21
Fisher Price |00801-0673 291.59 75.4 20770 0.82 108.7
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